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1. A branch of which among the 4, Consider the following statements

following Indian banks has been about Panchayat System in India :

doing business in Sri Lanka for the 1. Part I¥ of the Constitution of

last 150 years? India envisages a three-tier
system of Panchayats.

(il Vigaye Bank 3, Seats in Panchayats shall be

reserved for the BScheduled

b} State Bank of India Castes, Scheduled Tribes and

Other Baclkward Classes.
fc) Dena Bank Which of the statements given
above is/are correct?
Canara Bank
() ot fee) 1 only
(b) 2 only
2. Which one of the following fej Both 1 and 2

statements is not correct? {d] Neither 1 nor 2

fa) A Ministry must always be 5. Which of the following statements
headed by a Cabinet Minister with regard to the Parliament of

India is/are correct?

{b)] A Minister of State can hold 1. The Comptroller and Auditor
independent charge of a General of India can take part
Ministry in the proceedings and cast

vote in the Lok Sabha or the

fe} There can be more than one Rajya Sabha,
nEFEItﬂ'.I.EﬂT. i a Mi:ﬂjﬁ-h’j" 3 The ﬁtmmejr General of India
shall have the right to speak
jelj There could be two Ministers of in, and otherwise take part
State in the same Ministry in the proceedings of either

House.

3, The BSolicitor General shall
3. Annual GDP growth of sub-5 percent have the right to speak in, and
for four successive years was take part in the proceedings
witnessed in the of either House or any joint

sitting of the Houses,
fa) mid-1980s= Select the correct answer using the
code given below,

(b) mid-1990s fa) 1,2 and 3

|
(e} mid-2000s (b) 2 enly

fe) 2 and 3 only
(d] mid-1980s and mid-1990s (@ 1 and 8 only
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1. it v dw 4 | $9-d os 3%

# wreEn e ® fred 150 99 @
oA Wt T BT

fa) T &
(b) AT 22 d%
fc) &5
(@) % iw

2. Fafafay 4 8 ¥9-m v sam ol T8

a?

fa) Tl TEem | o9um ogfE FREe
weft & e =iy

(b) = wH R AAwE W e gan
YT T HEAT

fe) Tt off wEEw § ww A wim
FenT & W #

() wE # uarerm & R ey o @ owEd
#

3. 9F IO A9 & e 5 onfawm @ 4 R

arfife GDP 3 fee dhm &t off
fa) 1980 % =9 w1 09
(b} 1990 % I T 9
fc) 2000 % T F qA

ld) 1980 % =wF w1 oy 3% 1990 F
T = T
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4. WA H Y=EME WOl % weEry #

Frfefian =t o faam fifin

1. ¥AE & wWfENE % owm o IX &
-l dgrm w5 g
Bl

2, TEEEl § sEgRm s, sEEhE
IR a3 wm feE = & fom
i smféra £ s

IqdeE # B wE-m ) we wd e

(m) ¥E@ 1

(b} e 2

fo) 1 3w 2 EE

fd) a4 13 adto

5. Fr=fefiaa & & wwa #i oz & we=w o

FH-H1/3 wa we B8

1, yoa % Fors-mewn oes w5
W W U A/ S wEaE 3 gm
™ w1 % 3 WAEE R W 2

2, WA SHONEEEEEE] o ae
7 FeF 3 9= wrEaE § w8
w1 @WigEwE g

4 fr mogE W owm oW ogh aw
T

fa} 1, 233

(b) a2

fo) A 2 30 3

fd) HET 1 3w 3
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6. The executive powers of the Union

formally vest in the

(a) President of Indis

fb] Prime Minister of India
fel Union Cabinet

jd) Union Council of Ministers

7. Continuance of slow down of Indian

economy with sub-5 percent growth
rate for past two years despite
continued fived capital formation
beyond 30 percent of GDP shows
the presence of

fa) cyclical factars originating in
world cconomy

fb) structural constraints  in
domestic supply

(c) Both (a) and {b)

{d] conflict in oil-exporting
countries

8. Two major saving sectors, in

ascending order, in India are
fa) public and private corporate
fb) public and household

fe] private corporate and
household

fd] household and public

B-UQ/RV-N-A/B0A

9. With regard to the administration of

Scheduled Areas under Article 244
of the Constitution of India, which
one of the following statements is
not correct?

fa) States of Tripura and Meghalaya
are excluded

{b) The Scheduled Areas are
administered by an Advisory
Council

fe) The Governor of the State may
direct that a particular Act of
the Parliament shall not apply
to a Scheduled Area

fd) The Governor can increase the
area of any Scheduled Area

10. Consider the [ollowing statements

gbout Panchayati Raj Institutions

im India ;

1. Courts shall have no
jurisdiction to examine the
validity of a law, relating to
delimitation of constituencies
or the gallotments of seats,
made under Article 243K.

2. Every five years the Governor
of & GState shall appoint a
Finance Commission to review
the financial position of the
Panchayats and to make
recommendations.

3. The report of the State Finance
Commission, together with a
memorandum of action taken
on it, shall be laid before the
Parliament.

Which of the statements given
above isfare correct?

fa) 1, 2and 3

fb) 1 and 2 only

fe} 2 and 3 only

fd] 1 omly



6. T # Frfwiel wiwa sfeais o o 9, WA % HiAWA % W=t 244 7 gy

firery fafes #7 &A1 & vareA & weey § fefefaa g @
FIA- T S A o7
{8 ¥ SR (o) P i e et W) SR
5 S = o mn
_ = (b} wiETET &1 W U Gei
fe) €9 = AEwEA wftwg e
e fc) wE W ey frm 2 wdm B
b i Gom W P v PR s
el arEfim A3 %1 am g
(d) T fedt wagfaa de % s

7. GDP % 30 witwa 8 3w fén 4 feim
wift et F A, fm 9 At % o
s wfewm & F9 wafe = @t wwdAR
wdemae ) uE W g wen fead 10, WA § Tuwd UW demed] ® weey

qg wF

Fufeuta 1 wnfm 87 Fferiiam wual @ fem Hifam
. #g=98 243K F  FwA
fa) fam sdsraea 4 se S i Prfe-an & afis m = &
_ e % wa o wd fed
(b) e G A oA e ) v = oflem = =
st e =
e} ZFt fa) 3 (b) !
2. wElE ofg 99 § 0w w1 0w U
(d) e Pt 2 A wed fw s & Fgf, TSwd A
i faf = wiEEs w9 3
fawifadl &= % fom =)
3. T =W wmm & o, | om R
‘ﬂg?ﬁm““m“* i wlE % g whe, W
X wuy el st |
ja) OfeTH W WEEE FHIE e A B wE-ad e ol e
15) Al fa) 1,233
fb) %Eer 1 K2
(c) wgHe windite ofi wig P e
fd) =t in o (d) e 1
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11. Which one of the {following

statements is correct?

fa] The Legislature of the State
of Kamataka consists of the
Governor and the Legislative
Azsembly

(bl The Legislative Council of a
State can be dissolved by a law
made by the Parliament under
Article 368 of the Constitution

fe)  For dizsolution of the
Legislative Council, it ia
mandatary that a resolution
iz passed by the Legislative
Assembly of the  State
concerned by a majority of
total number of members of
the Assembly and by a majority
of not less than %rd members

present and voting

fd} The total number of members
of the Legislative Council shall
not exceed half of the number
of members of the Legislative
Assembly concerned

12. Consider the following statements

relating to the Committee on
Absence of Members from the
sittings of the Lok Sabha |

1. The Committee recommends to
the House the period of leave
to be granted to the Member,

2. The Committee grants leave
to the Member,

3. This is a Standing Parliamen-
tary  Committee:

Which of the statements given

above is/fare correct?

fa] 1 and 2 only

(b 1 and 3 only

fef 1,2 and 3

fdl 3 only

B-UQ/RV-N-A/50A

The term of office of members of the

Committee on Public Accounts of
the Parliament is for

fa) five vears
(b} one year
[e} two years
{d} three years

14, Which of the following rules is/

are issued by the President
of India under Article 77(3) of
the ' Constitution for conduct of
business of the Government?

1. The Government of India
[Allocation of Business|
Rules, 1961

2. The Government of India
(Transaction of Business)
Rules, 1961

3. 'The General Financial
Rules, 2005

Select the correct answer using the
code given below.

fa) 1 and 2 only
{bj 2 and 3 only
fe} 1,2 and 3
(d) 1 only

15. In which one of the following options,

the hierarchy of the functionaries
of a Ministry is met shown in the
correct descending order?

{a) Secretary, Additional Secretary,
Joint Secretary

fb) Director, Undersecretary,
Section Officer
fcj Secretary, Undersecretary,

Joint Secretary

fd] Special Secretary, Joint
Secretary, Deputy Secretary
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16. Widening of Current Aceount Delicit

(CAD) in recent past few years can
be explained in terms of

] stable exports and rnising
imports

{b] weakening exports and stable
imports

fc}] stable exports and stable
imports

{d} mnsing foreign direct investment

17. ‘Come and Make in India' is an

invitation for

fa) overseas Indians to return
back to India and thus stop
brain drain

fb) foreign companies to invest in

India and sell anywhere in the
waorld

fe) foreign nationals to seek
employment in India

(d) Both {a) and (g

18. Which one of the following statements

is incorrect?

fal The Council of States consists
of elected &snd nominated
members

b The Council of States iz not
subject to dizsclution

fc) Omne-third of the members of
the Touncil of States rctre

every five years
fd] The Viee President of India is

the ex officio Chairman of the
Council of States
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19. Which one of the following

statements relating to the
Constitution of India iz correct?

fa) Article 370 is a temporary
provision

fb) The fundamental right to
equality cannot be suspended
under any circumstances

fe} The Bupreme Court of India
has supervisory jurisdiction
over all the Courts in the
country

fcd) All provisions of the
Constitution of India can be
amended as provided under
Article 368

20. Which of the following statements

regarding an Appropriation Bill
isfare correct?

1. tcanbeintroduced only in the
Lok Sabha.

2. It is introduced immediately
after adoption of the demands
of granis.

Select the correct answer using the
code given below,

faj 1 only

(b} 2 only

fef Both 1 and 2

fe} Neither 1 nor 2
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21. Consider the following statements
regarding a Conatitutional
Ameridment Bill :

I, Itisnot treated as a Money Bill
or Financial Bill.

2. It can be introduced either in
the Lok Sabha or in the Rajya
Sabha,

3. It cannot be introduced without
the recommendation of the
President,

Which of the statements given
above isfare correct?

fa) 1, 2 and 3
fb] 2 and 3 only
fc/ 1 only

fdl 1 and 2 only

22. Army, Naval and Air Headguarters
are

fe) the Attached Offices of the
Ministry of Defence

{6 the Subordinate Offices of the
Ministry of Defence

fel a part of the Inteprated
Headquarters of the Ministry
af Delence

(d} MNone of the above

23. Which one of the following is a
constitutional body?

) Planning Commission

fhi Central Information Commis-
Elon

fe) National Security Council

fd} The Comptroller and Auditor
General of India

B-UQ/RV-N-A/S50A

2%, In terms of Human Developrmient

Index, India stands in the category
of

fa} very high level

() high level

fo) medium level

fdl  low level

25. In the computation of Human

Development Index (HDI), the new
methodology employs both mean
years of schooling and expected
mean years of schooling. The mean
years of schooling in India for
the year 2010 were 44 years, The
expected mean years of schooling
for present cohort are expected to
be

fa] more than 4-4° years

) less than 44 years

fe] just 44 vears

fe] any number, which cannot be
judged

26. Which one of the following

statements with regard to the
Right to Information Act, 2005 is
incorrect?

fa} The disclosure of third party
information cannot be made in
the same way as all other
information

(b) The Right to Information
Act, 2005 contains specific
provisions to protect life of a
person

fef The Right to Information
Aot, 2005 treats equally all
information relating to
corruption

{d) An applicant denied informa-
tion by a public authority can
directly approach a Court for
information
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27. Which of the following was not a

mandate of the Second Adminis-
trative Reforms Commission?

fa) Ethics in Government
5] Public Order
fef Centre-State Relation

fd] Social Capital, Trust and
Participative Public Service
Eelivery

28. Consider the following statements

regarding Financial Bill under
Article 117 (3) of the Constitution :
1. It can be introduced without

the recommendation of the
President.

2. It can be introduced either in
the Lok S8abha or in the Rajyva
Sabha.

3. It would involve expenditure
from the Consolidated Fund
of India.

4, Unless the recommendation of
the President is received, the
Bill cannot be considered by
the Lok Sabha/the Rajya
Sabha.

Which of the statements given
above isfare correct?

fa) 1, 2e&end 3

(b} 2,3 and 4

fog 2 and 3 only

fe)] 4 only

121st Constitutional Amendment
Bill seeks to

fe) et up the Judicial
Appointments Commission

(] get up an OBC Commission

fc} confer constitutional status to
Lok Pal

(d) setup acommizsion to enguire
into atrocities against women

B-UQ/RV-N-A/50A
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30. Which one of the

following
statements is incorrect?

Public Sector Undertakings are

fa) controlled fully or partly by the
Government

fbf set wup in the form of
companies or corporations

fe)  entities in which the shares are
held by the President or his
nominees

fd} managed by Board of Directors
comprising Government offi-
cials only

31. Under the Central Staffing Scheme,

the prescribed tenure of deputation
of an officer to the post of Director
15

fa) 3 years
fb) 4 years
fo) 5 wears

(d] 7 years

32. Among the major States, Bihar and

Kerala show the highest and the
lowest decadal growth of population
during 2001-2011, They are
respectively around

fa) 30 percent and 5 percent

{b) 25 percent and 5 percent

fe) 20 percent and 10 percent

fd} 15 percent and 10 percent
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33. According to a study conducted by
the IMF (May 2013}, which one of
the following statements Is true in
respect of fuel subsidy in India?

fa) Bottom 10 percent households
cormer seven tmes more
benefits than top 10 percent

fb} Top 10 percent households
cormer seven times rore
benefits than bottom 10 per-

cent

fo} Bottom 10. percent and top
10 percent households equally
benefit from the subsidy

jd) Fuel subsidy is not very high to
be called a major subsidy

34. Which one of the following
statements 15 incorrect ?

fa} The power to expand the scope
of the Second Schedule to the
RTl Act, 2005 vests in the
Central Government

(b) The RTI Act, 2005 does
not apply to intelligence
and security organizations
established by the State
Governments and notified in
the State Official Gazette

fe} The RTI Act, 2005 applies to
intelligernce and security
organizations established by
the State Governments with
regard to corruption matters

fd] The RTI Act, 2005 has=

overriding effect over some
legislations

B-UQ/RV-N-A/50A

36. Which one of the following
information ecannot be disclosed
under the RTI Act, 20057

fa) Advice given by a lawyer to his
client

(b} Trade secrets invelving use of
amuggled poods In the
manufacturing process

fe) Decisions of the Union Cabinet
and all related papers after the
Cahbinet meeting

{d) Records of an incident that had
happened 25 years earlier

36. The Committee on Public Accounts
consists of

fa] 15 members from the Lok
Sabha and 7 members from
the Rajya Sabha

fb) 20 members from the Lok
Sabha and 20 members from
the Rajya Sabha

fo) 20 members from the Lok
Sabha and 10 members from
the Rajya Sabha

(d} 30 members from the Lok
Sabha and 15 members from
the Rajyva Sabha
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37. Which of the following is/are

considered as Constitutional
Amendment Bill[s}?

1. Admission or establishment
of new States. alteration of
areas, boundaries or names
of existing States {Articles 2, 3
and 4}

2. Creation or sboliton of
Legislative Councils in the
States (Article 169}

3. Administrationn and control
of BScheduled Areas and
Scheduled Tribes (Para 7 of
5th Schedule)

4, Administration of Tribal Areaz
in the States of Assam,
Meghalaya, Tripura and
Mizoram (Para 21 of 6th
Schedule)

Select the correct answer using the
code piven below.

faj 1 and 2 only
fb} 3 and 4 only
fei 1,2, 3 and 4
fdi None of the above

3B. Which of the following is not an All

India Service in terms of Artdele 312
afl the Constitution?

fa) Indian Forest Service
fbi Indian Revenue Service
foj Indian Police Service

fd] Indian Administrative Service
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39. Which of the ollowing statements

about  Departmentally Related
Standing Committees of the
Parliament is correct?

fal] They are chaired by the
Minister-in-Charge of the

Department concerned

fbl Bome of these Committess are
serviced by the Lok Sabha
Secretariat, while others are
serviced by the Rajya Sabha
Secretariat

fe} The term of the members
of these Committees s
coterminous with their term as
a Member of the Parliament

fd] The Demands for Grants of
a Ministry/Department must
be examined by the related
Coammittes befors it 15
presented to the Parliament

. Life expectancy is the highest in

Kerala, while birthrate and infant
mortality rate are both lowest in
Kerala; the death rate is the lowest
in Maharashtra and West Bengal,
not in Kerala. What could be the
reasons

fa)] The proportion of children has
gone down in Kerala

fb) The proportion of children has
gone up in Kerala

fc] The proportion of old persons
has gone up in Kerala

{d] The proportion of old persons
has gone down in Kerala



37. ToafafEa 4 & FR-T/4 wEue g9

Py e e A W 87

1., T TS W wHy swE I
T, AAAE T W e, dmre
o oA # o (wgeEe 2, 3
3 4)

g, Tegt B fm oimEt W W
(Foruar) S7uE IETEA | STETRIE)
(¥=aR 169)

3. sEEtE Al s agfEe s
1wy s e (SE s
=1 741 )

4, wam, W, fgm s e
mEl o wEEE At W e
(6t 1t =1 2191 0)

39 Bu omoE2 1 owEm W HdE I
g

fa) Faa 1 a2
(b} e 3 AN 4
) 1,2 334

(d) I A | T

38, Afwm ¥ ag=R 312 ¥ OR,

Fiifeifag & 8 #a-d) sfige sy &=
=t 87

fa) WA =9 E=

(h) vedts T
(c) TR gfeE #a1
(d) wreta werafE

B-UQ/RV-N-A/50A 17

39, Taz $ v s weh afbfa *

it 1 Freffem svd § 8 9-m af
BY

fa) TN EE Tl EEE w T
Wt B B

(b) ¥ B Fw wEkE o 8w
wfeETem, wafs 3= = ov o8
aieEwm Ha9T F8H S0

c) T wffEd ¥ wsml W FEEE
IR WHE i HSEOE WYY WO

BT B

fd) @ B wem & A owee, Gl
wrerd /e & amEe & o fi
giien wefua wfuf gm # =
Bl B

40, F wearm F@ 4 sfteeam R, wEfE

s o B oo owm dA R\ R
frmm 8; ey = wewy wE ofEm =E 9
=M B, e H AE | R S W E
el BT

fa) == w1 A #E H T
(b) w1 1 A e N oA

(c) T8 A F 3T HE A AW
T 8

(d) T& Al ST e 4w T
™ B

[B.T.O.



41. India ean reap demographic dividend
because India has relatively a
higher propertion of

fa} school-going children
(B) youth available for work
e} experienced old persons

fd] English-speaking people
42. Which one of the following

information can be disclosed under
the RTI Act, 20057

fal An information which can be
severed from the information
exempted wunder the RTI
Act, 2005

(b} An information pertaining to
Border Roads Development

Organization

fe) An information pertaining to
Aviation Research Centre of
Cabinet Secretariat

An information pertaining to
the health of a2 Union Minister

e}

43. Which one of the
gtatements is correct?

fa) The Constitution (121st
Amendment] Bill, 2014 was
passed by the Parliament by
2rd majority of each House of

the Parliament
(b) The Constitution (1218t
Amendment] Bill, 2014 was

passed by the Parliament by
%rd majority of each House of

following

the Parliament present and
voting, and also by a majority
of total membership of each
House of the Parliament
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fe} The Constitution (121st
Amendment) Bill, 2014 passed
by the Parliament requires
ratification by the Lepislatures
of all States

(d} The State Legislatures have

no rmole to play in a

Constitutional Amendment

44. The quorum required for the sittings
of the Lok Sabha is

fa) one-third of the tatal
membership of the House

fb) one-fourth of the total
membership of the House

{c] one-tenth of the total
membership of the House

fe] one-sixth of the total

membership of the House

45. The Chairman of the Committes on
Public Accounts is

fa) appointed by the Speaker from
amongst the members of the
Lok Sabha elected to the
Committee

fb) appointed by the Vice President
from amongst the members of
the Rajya Sabha only

fc} appointed by the President
from amongst the members of
gither the Lok Sabha or the
Rajya Sabha

elected by the members of the
Committee

fd)
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46. The Department of Pharmaceuticals

18 under the administrative control
of the

fal Ministry of Health and Family
Welfare

(b Ministry of Chemicals and
Fertilizers

fe)] Ministry of Micro, Small and
Medium Enterprises

fdi Prime Minister's Office

#7. At present, the Border Roads

Development Board (BRDB)
functions under the Chairmanship
of the

fa) Minister of State in the
Ministry of Defence

{b] Minister of State in the
Ministry of Read Transpart and
Highways

fe) Prime Minister
{d} Chief of Army Staff

48. Fiscal consclidation in the long run

requires
1. raising tex-GDP rato
2. escalation of expenditure

3. checking leakages to contain
level of subsidies

4. stop borrowing to contain
interest payment

Which combination of instruments
is the best from the angle of
sustaining growth?

fa) 1,2 and 3
(b) 2 and 3 only
fej 1 and 4

jd} 1 and 3 only
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49, Which of the statements given below

isfare correct?

1, Consumer price inflation was
lower than wholesale price
index in India  during
2013-2014.

2. In India, core inflation
excludes food and energy
component from the index
used for measuring inflation.

Select the correct answer using the
code given below.

f) 1 only

(B 2 only

fc} Both 1 and 2
fd) Neither 1 nor 2

50. Which one of the [ollowing

statements is fnecorrect?

fa} A judicial oerder passed by the
supreme Court of India may be
violative of the fundamental
right of a citizen

b} The BSupreme Court under
Article 32 of the Constitution
of India has no discretion to
refuse. enforcement of a
fundamental right as against
the power of High Courts
under Article 226

¢! The punishment for offences
pertaining to fundamental rights
can be prescribed only by the
Legislatures and not by the
Executive

(d) The right to move the Supreme
Court for enforcement of
the rght under Article 20
cannot be suspended in any
circumstances
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51. Which of the following statements

is/are correct?

1. Writ of Certiorari is° meant
for deciding the legality of an
order /decision taken by a Lower
Court/Tribunal /Authority.

2. Writ of Prohibition is issued
while decidmg the [legality
of an ongoing proceeding
before a Lower Court /
Tribunal f Authority.

3. Both wrilts are supervisory in
nature and the Writ Courl can
decide the case by considering
all the issues raised by the
parties,

4. Il adequate material/evidence
15 not on record, the Writ Court
can gquash the decisionf
ongoing proceeding, as the
case may be.

Select the correct answer using the
code given below,

fal] 1 and 2

b 3 and 4 only

fc/] 2 only

{dl 2,3 and 4

52. There can be a joint sitting of both

the Houses of the Parliament for
fa] Money Bill

fbl Constitutional Amendment Bill
fg) Ordinary Bill

fd] Appropriation Bill

53. Hindustan Shipyard Limited is

fa) a public sector shipyard under
the Ministry of Defence

fb] a privale sector company

fe} managed by the BShipping
Corporation of India

{d) the most profitable shipyard in
the country
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8. Use of instruments: such as

hxing Statutory Liguidity Ratio for

banks and prescribing investment

guidelines for other institutions is

called ‘financial repression’ as they

fa] capture resources for public
seclor

(bl generate perverse incentives
for households to avoid holding
gssets with Indian financial
firms

fe) penernte inflation in sisget
prices

fd} encourage Government to
borrow money

Non-debt capital receipts of a
Government de not include
fa) disinvestment proceeds
(b royvalty on natural resources
(c] Tepayment of principal part of
lean advanced
(d) sale of property

86. Which of the fallowing statements

is incorrect?

fal Under the collegium system
of appointment of Judges of
the Supreme Court, the

recommendation of the
collegium was binding on the
President

(&) The appointment of a person as
Minister, who is facing a trial
for murder or rape, s
constitatienally invalid

fe} The appeintment of a person
as Prime Minister pre-supposes
that he has majority support
in the House of the People

fd) It 1is not mnecessary that
the Chief Information Commis-
sioner appointed under the RTI
Act, 2005 must be a sitting or
retired Judpge
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57. Which of the following statements iz

incorrect?

fa} The Parliament cannot enact
legislation on ‘water®

fb} The Constitution of India does
not contain express provisions
regarding secret session, but
the Parliament can have secret
555101

fc} The Prime Minister must
disclose to the President such
information pertaining to the
decisions of the Council of
Ministérs relating to  the
administration of the affairs of
the Union which he deems

proper

fd} The Parliament also includes
the President of India

58. With regard to reservations, which

one of the following statements is
incorrect?

fa) The reservation in public
services can never exceed 50%

fb) There can be no reservation in
admission to super-speciality
COUrses

fc} There can be reservations
in admissions to private
educational institutions

{d] The reservation in public
employment for Scheduled
Castes and Scheduled Tribes
can be made only on proof
of backwardness, inadequate
representation and efficiency of
adminiatration is not affected
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59. Consider the Mllowing statements

about Motion of Thanks 1o
President's Address to the Lok
Sabha and the Rajya Sabha :

1. Notiees of amendments to
Motion of Thanks to President’s
Address can be tabled after the
motion has been moved in the
House.

2. Amendments may refer to
matters which the Address has
failed to mention.

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

fc) Both 1 and 2

fd} Neither 1 nor 2

60. A rank of "Colonel’ in the Army is

equivalent to

fa) Captain in the Indian Navy

(b) Commodore in the Indian Navy

fe/ Wing Commander in  the
Air Force

fell None of the above
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61. Who among the following was chosen

to be the Chairman of the Planning
Commission in the Cabinet
Rezolution of March 1950 that
constituted the Planning
Commission?

fa} Jawaharlal Nehru
(b} The Prime Minister of India
fe/ The Union Minister of Planning

(df The Chairman of the National
Development Council

62. The Fifth Five-Year Plan of India had

two major objectives, One of them
wiaz to pchieve self-reliance, The
other was

fa) increase in employment

opportunities

{8} adopting measures for raising
the consumption standard of
people living below poverty line

(e} faster growth of manufacturing
gector

(d} rural development

63. The freedom of press does not

extend to publish

fa) mformation received from a
foreign government

B  information
pending case

fe) information  pertaining to
commercial confidence, except
when public interest requires
disclogure

relating to a

(d] the sexual activities of a person
recorded secretly
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65. Which one of the

66. What

64. The Constitution of India does not

guarantee which one of the

following rights?

fa) Right to keep silence

fb) Right to get the trial quashed
for inordinate delay in the trial

fe) Right to legal representation
fd} Right to bail

following

statements i not correct?

fa} The freedom of religion can he
restricted on the ground of
marality

(b) ‘Begar' means compelling a
person  to. work  without
payment

fc/  Children below 14 years of age
cannot be engaged in a mine

(e} The question of ‘minority’ has
to be decided on the basis of
population of the country

fsfare the differenceis)

between the terms ‘adjournment’

and ‘prorogue’ in Parliamentary
parlance?

1. Adjournment means postpone-
ment of the sitting of the House
from one time to another
specified time for the
reassembling of the House.
Prorogue means to conclude
the sitting of the House
indefinitely.

2. Adjournment is made by the
President, while prorogue is
done by the Speaker.

Select the correct answer using the

code given below,

(a) 1 only

{b} 2 only

f¢) Both 1 and 2

fd} Neither 1 nor 2
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69. Concept of

67. An association of the families of

freedom fighters wants to take up
the issue regarding inadequacy of
the pension granted to them and
calls on the Minister concerned.
Who should the association call on?

fa] The Minister-in-Charge of the
Department of Pension and
Pensioners’ Welfare

fb) The Minister-in-Charge of the
Department of Social Justice
and Empowerment

fe} The Minister-in-Charge of the
Ministry of Home Affairs

fd] The Minister-in-Charge of the
Ministry of Human Resource
Development

68. Heavy reliance was placed for the

first time on basic and heavy
industries in the formulation of the

fa) First Five-Year Plan

) Second Five-Year Plan

fe) Third Five-Year Plan

(d] Fourth Five-Year Plan

Relling Plan was
introduced in India in the year
{a] 1968

b} 1978

fc) 19088

(d] 1998
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70. Which one among the following

was not the reason for abandoning
the Draft Fourth Five-Year Plan
(1966-1971)2

fa) Indo-Pak War
{b) Devaluation of the currency
fe] Two successive years of drought

(d} The Prime Minister faced power
atruggle

71. If an applicant is not supplied

information by a Public Informa-
tion Officer within  prescribed
time, which of the following
consequences follow(s)?

1. The concerned Public Informa-
tion Officer may face
disciplinary action.

2.  An appeal may be filed before
the Appellate Authority at any
time.

3. The Central or State
Information Commission, as
the case may be, may receive
and enquire into the complaint
of the applicant.

4. It shall be presumed that the
information has been refused,

Select the correct answer using the
code given below.

fa) 1, 3 and 4
fb] 3 and 4 only
fa 2

fd] 1 and 4 only



67. T A % ofEnl w0 Uk e I 70. Frafafas # @ FR-W o UEW S

& 5 Frefl S s 8 At qeEdfa A (1966-1971) F 9
o F 3 e B o aeie &1 FT AR @17
# Yz we W R oW oEw W e
fwm e & Wit qf Az fes) . VIR R
=
(b) HE W SAEE

fa) R S el s e
fc) w@ % @ wmEw

(b) vt = i it Fhm ! A
(d) e 3wl e w awen e

(o) TR HATEE

(d) T FETE T e 71, R wE v g e Faiie am
g & adEs w1 AEW OAE g, @
frefafm 3 @ Fe-@/@  giom

68. Frw e & fmim # snwmg 2 s /i
T e W T Wi w9y 1, 34 T g shusd &
. 4 szt ward & wwdt 21

) < S 0. wnftm b=l & wos o fed

PR W S . ot s i w wEd B
3. WEA F AR, FEE 1T g

() Tt Wt A M, 9T 6 fEmEE o

wwar & =i T =t = w2
4. &g Iqumon H e sl R ogwEe

# 0 TeT foan T B
69. wmA § wEW e (G w=E) # 43 fim T wE w1 owEM W OEE I
Haer T w o T
fa) 1968 faj 1, 334
(b} 1978 (b) AT 3 3004
fc) 1988 fe] 2
et} 1998 (d) =@ 1 4
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Ta. Under the RTI Act, 2005, fine
cannot be imposed in which one
of the following cases?

fa] Refusal to receive an
application for information

fb) Giving incorrect information
fel Destroving information

(dl Refusing information on the
ground that the same was
exempt under Section B{1]{j)

73. While exercising powers under
Section 20 of the RTI Act, 2005, the
Central Information Commission is
not bound by which one of the
following requirements?

,i'ﬂj To pass a speaking order

fb} To give personal hearing to the
person concerned

fet WMot to receive a complaint
regarding denial of information

fd} To follow the principles of
evidence

7%. Which one of the following
statements i8 correct with respect
to the RTI Act, 20057

fa) An application for information
can be made by any person

(b Information regarding the

arrest of a person must be
supplied within one week
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fd)

Information fo persons
belonging to BPL category can
be supplied without payment
of fee

Refusal to provide information
may lead to the sentence of
imprizsonment

75. Consider the following statemcntsa
about Private Members' Business in
the Lok Sabha -

Every Member of the Parliament
other than a Minister is called
a Private Member and he can
introduce Private Members'
Bill.

The last two and half hours
of a sitting of every Friday
during session -are generally
allotted for transaction of
Private Members' Business.

A Private Member cannot
introduce a Cdnstitutional
Amendment Bill.

Which of the statements given
sbove isfare correct?

fa)

(b

e}

(d)

1 only

2 only

1 and 2 only

1, 2 and 3



72. RTI #AufEm, 2005 % adiq Fefaia

# # frw o w3 guim T e
A

o) W % fe wER BW W RN
Ce ]

fb) TR HEA
fe} TEA AT

(d) HEAI I A A O s
=8 uw 8(1)(j) F W u2 um 2

73, RT1 siu=ah, 2005 %1 9@ 20 % =0

wiwa w1 WEM FAA wEE Y g
wni Frfefas § @ ¥R 0 S
# amy et B

fa) wEEE sEm (e wid) ofm
FA

(b AT =|fm & stEw
T

(o) HEW RN T F Wy | e
A w

(d) T ¥ fagral F1 SgEm w5

74. RTI =fufam, 2005 F a2 8 Fofefem

§ # FH-81 UF wuF w7 A

fa) TEA E e el o =i g
Tt =0 e B

b} fedl =fw $t el & fam @
w0 TR % i 8 3eee
FHOH1 Fl
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i) iRt F AR el & E R

g fm aFs F g & 4 W
aEA T

(d) TENE EA W W H R EAEE
w1 UL B U 8

75, iw @ A M- geel & owwEw F

a1t 7 Fr=fefima w1 o GEw S

1. Wl % aterE gue W w0 U 6ee
-wrT Wew TEem § o A
M-l ween favEs gEnie
F7 w2

2, T % AE IS AR i 35 T
sfEm g gue wramE: M-weRR
HEl & FHAT & HemEen & e
wrafeg f a2l

3, Mgt wEe OfEum g

fotiers e =8 F5 @ 81
o el A A wE-E 8w R /R
fa) e 1
(b) AR 2
fc} et 1R 2
fdj 1,233
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76. Who iz the Chairman of the fel  Ministry of Home Affairs
Committee on Private Members'

Bills and Resolutions in the Lok .
Sabha? fd) Ministry of Drinking Water and

Sanitation

fa) The Speaker

fb) The Deputy Speaker o e B e il s b
fc) A Member elected by the to be launched in 1990, but that
members of the Committee did not happen as
from amongst its members

fa) political situation was fast

(d} A Member appointed by the changing around that period

Deputy Speaker

(b} political leadership thought

¥7. Which of the following statements is that Planning Commission

correct? should change its role and
should act as a think tank

As per the Central Staffing Scheme,

officers appointed as Secretaries to

the Gorverrnant of Intie {c} the economy of the country

wds experiencing a negative
growth
fa) can have a maximum tenure of

three years (d) USSR was broken and ideas

of Glasnost and Perestroika
influenced Indian politicians of
the time

{8l  can have a maximum tenure of
five years

fc}  must get a minimum tenure of
two years

80. Increase in the food grains,
employment and productivity was
the main emphasis of the

fd} have no fxed tenure

78. Inland Waterways Authority of India

(IWAI) is an autonomous body fa) Fifth Five-Year Plan
under the administrative control
of the

fb) Sixth Five-Year Plan
fa) Ministry of Shipping

B ive-Year P
(b} Ministry of Water Resources, fc) Seventh Five-Year Plan
River Development and Ganga

Rejuvenation fd} Eighth Five-Year Plan
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76. T AW A M-mvenl geed & R fe) 1B HETEA
. wEed) F wfaf s s =9

B () e 3l wrsE vy

fa) T B Sy

(b) T T 1 g 79, HEd g=Eadis @t #1990 # oy

fc) wfET % FE) B9 30% Aeel 6 B BT 1 S Su A g, i
Faffam =i e
fa) IW W ¥ HE-TH RS
(d) T B Iy g P R afefet el 8w o
T TS WEE

(b} trEAfeE Agm F G @ B 9

in farsw (fis 3) 1 i
. 3 & #h- 2
77, Tt wudl 8 8 S9-m w2 S S
= wien wm ¥ owgEn, =
it =, W 9y TR § ah fc) M fit sedfeeEn A ogfe someE
e @t 2 # o ot
fo) it FrfwE fF ad & w2 (d) USSR 22 1 o 3N wiredie o
sty & e 3 awn % wwdw
(b} ReER Hrhren ie 9 & w3 Tt w1 T o

(e} “goH wEEE a8y g # st

() s Rl e 791 8 80. @l T 3i TR i gt W

ata H g wi
78. Wi e Femel Wi (WAl fa) it T e
Tyt P % s o w@nm
T 57 () WA GEadfy g
fa) O SfiEE T

fc) T YT qre
(b) W& wFEME, 49 faww s am
Hiam WATEE (d) HTael TS Atwn
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81. Inclusion of word ‘inclusive’ in the

planning documents of

India

atarted with the

faf

el

fe)

(d)

Minth Five-Year Plan

Tenth Five-Year Plan

Eleventh Five-Year Plan

Twelfth Five-Year Plan

B2, Consider the following statements :

1.

Which of the

The RTI Act, 2005 prohibits

disclosure of information
regarding  infringement  of
copyright subsisting in the
State.

Information regarding trade
secreis can be provided in
larger public interest,

An Informotion Comnmussioner
cannot be removed from his
office on the ground aof
nmcompetlence.

statements given

above isfare incorrect?

fa)

(b

(el

(]

1,2 and 3

1 only

2 and 3 only

1 and 3 only
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83. Which

one of the following

statements is incorrect?

(al

fb)

el

(el

84.

Which

The fundamental right of
freedom to carry on trade does
not include freedom to sell
liquor

There is no fundamental right
of freedom to carry on trade by
a publisher to get his book
prescribed as a textbook in the
school

The fundamental right of
freedom to carry on trade
prehibits reservation in
admissions of students
belonging to Scheduled Castes
and Scheduled Tribes under an
Act of the Parllament

The fundamental right of
freedom to carry on trade
prohibits the State from
adopting executive measures to
curtail it

of the

one following

gtatements is correct?

(a)

(b}

fc}

(¢}

A law made by the Legislature
of a State under Article 31A of
the Constitution of India does
not require assent of the
President of India

The Acts included in the Ninth
Schedule of the Constitution
of India are not completely
immune from judicial scrutiny

A law made by the appropriate
Legislature to give effect to the
Directive Principles of State
Policy cannot be challenged on
the ground of viclation of the
fundamental rights

The fundamental rights can be
enforced only by the Supreme
Court and High Courts, and by
no other forum



81, WA & T e 0 gaEth’ = .
wHrEE R e & s gan?

fa) = TeEriTE I
(b} =Tl SEEdE A
fe)  TWEET TEENT e

(d) aTEE] T de

82. Tr=fafiam wurt m faan Hiftm

1. RTI sifafEm, 2005 ves 4 =3 1
waferaiuwn & wfems 5 fw
A1 % U2 w0 afaey w9

2, =T W+ e A gee =
it fam # aems wnd a1 g 2

3 BT s R TR W R
WA & SR W TE g S
Rl |

I FE & - e B/ET
fu) 1, 233

(b) *E 1

fc) #=E23R3

(e FEe 13 a
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83. Feafafm a3 § 8 F5-m vF o &7

fa)

(b)

(<)

(d)

R A & A F g s
T oWE WS O Eme wieem
TEl B

et s 1, 30 30 wEfEE
g W T 6 wan-qe &
#= A fafgm =01 = =m s 3
T O s T8 R
wHE F F we W g
wiirFr, dmWe gm ofw
wfafrm % s sigghae @i o
e ST ® B & udw §
AT 1 Wy w g

=N W % WS W W
uiwn, = %1 @ d@ifm 79 F
fom wefwifas ot =1 s @
ufiifir @ 2

84, Frofefioy a3t § 4 w9-m v oft 27

laj

(&)

fc)

(d)

WRA F #fEgA ok oaredE 31A %
wdm v ¥ Fvedew gm
as M5 R ¥ fom gl
aafi & st 7 &

g % AfawE o gt 4
E s e e R R
# qofa: 3y A #

TR o# A F FRves owE %
il TR % o I fam-
mEw gu T fafw s oaqm
AR & IFEA ¥ HUR W A
TE &1 W

i wfiem w FEe =
o 3R I AR g f

yafda fem = @ 2, Tl o=
wTeR g A

|P.T. O.



85, Which of the statements are correct?

Every citizen is under a

fundamental duty to

1. sing National Anthem

2  render natonal service when
required

3. renounce practices derogatory
o WoDImen

4. develop humanism and abjure
violence

Select the correct answer using the
code given below.

fa) 3 and 4 only
fb) 2 and 4 only
fe] 1,2 and 3

fd) 2, 3 and 4

86. The Committee on Public Accounts

cannot call for evidence of

fa) Representatives of the
Ministries

{b) Ministers

fe) NGOs

fdl Experts
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87. The relative precedence of the Private

Members' Bill in a particular
category is determined by

fa} the Speaker

fb] the Deputy Speaker

fof the Committee on Private
Members' Bill
{d) ballot

88. Which of the following statements is

not cormect?

fa)] The Prime Minister may call for
papers from any Department

(b) The Finance Minister may
call for papers from any
Department in which financial
consideration is involved

fe) The Law Minister may call for
status report fom the Chiel
Justice of India on any
allegation against & sitting
Judge of that Court

fd} Any Minister may ask to
see papers in  any other
Department il they are
related to, or required for,
consideration of any case
before him



85. Tr=iciias swdt 8§ § 999-8 mh #7 87. M-wiwnl wewll & fbww o Gl R
it & wriy qEafim e g fife

U ATTE He Sy & avefia B 1 3 B7
1. TETE M %
2. AETET U W P w3 ) TS e
fera
3. wieenst F oyl FwmEETs wmadt k) W I
1 afeam %03 & fom
‘ T e G RS e} T-wrl aee & frdes S aRf
T W
(d) T
M2 fy m F= = ow=ww o= oaft T
gz
(o} FEE 3 3N 4 88. Fefafss w1 4 8 F9-7 v o =
L4,
b} FEE 2 3R 4
fa} waFEE o By § s o
fe) 1,233 A A R
fd) 2, 3374 b) Tm W fedt ot favm @ @
-9 Om wwa & B R
frm mfim &

L e ¥ el i it &
i ferb 3w o fEf R gmoaw
(o) AT % wfaki B

IR (d) =i ot o Rl i o B @
. FITE -T2 SN W aEa R
(e T-womdh wEn o’ | zaw gy fEwnde fe
TR B owEfim §ow e

(dj fadms rifer &
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B9. Which of the following iz not a 91, Jan Dhan Yojana is a recently

Standing Committee of the launched banking scheme for

Cabinet? financial inclusion under which
each account holder will get, among
others -

fa) The Committee on Scientific

Ed o 1. an overdraft facility of ¥ 5,000

3. .an INSUrance COVET of

F 1,00,000
{b] The Committee on Accommo-
dation 3. a eredit card
() The Committee on Skill Which of the above is/are correct?
Development
fd] The Committee on Parliamen- fa) 1 and 2 only
tary Affairs
{b) 2 and 2 only
90. Rashtriya Uchchatar Shiksha fc} 1, 2 and 3

Abhivan (RUSA) is a centrally

gponsored scheme, which aims at

providing strategic funding to State fd) 1 only
public universities and colleges

through the

92, ‘Antrix’is the commercial arm of the
faj University Grants Commission

fa} Department of Space
(b) All India Council of Technical

Education
b} Department of Information

Technology
fc) State Government
fel Department of Atomic Energy

() Central Project Appraisal
Board fd] Department of Electronics
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89, Feiafan & & +=-# dfves 1 91. s w1 dr9w fadE geETE 3 e @ e
afifa a9 &7 1 7 4 e 2, Fred sl oS
ErATal, #= A % -y

(a) Al fhen wiaf 1. ¥ 5,000 % s g som
2. ¥ 1,00,000 =1 = 1w qrom

fb) = wiafy
3. shiEz #E wmom

fc) = fawmm afifd
IE B W A a2

(e} wearg Frd wisfa fa) Fa@ 1 a2
b} Ee 2 39 3
fef 1,233

90. g I=w P wfimm (RUsa)

F2 wrifem Te R, S 3t o= @

& o w2 nefraest #

Fofas Fdlam =R = ) W@ e

Has # R smm?

o) Faufieem smem smEm 92. ‘s fiew wEaEw o 47
fa) =ity B

fb) fiEw WA AR e ofog

fb) e iR fam
[c) T WOHT

fc) AT S R
(d} F=Em it qrais e fd) FEEETAER faem
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93. The Street Vendor Act (2014} which

received ‘assent of the President on
May 1, 2014 seeks to protect
livelihood of about ong crore sreet
vendors by ensuring

1. protection of legitimate street
vendors from harassment by
police and civic authorities

2. demarcation of vending zones'
on the basis of ‘traditional
natural markets’

3. their presence in deliberative
processes of municipalities

Select the carrect answer using the
code given below,

fa) 1 and 2 only
fb} 3 only
fe} 1 and 3 only

fd} 1,2 and 3

94. Integrated Low Cost Sanitation

Scheme aims at conversion of dry
latrines into

fa} pour flush latrines

b} cistern flush latrines

fc} wvacuum flush latrines

fe) pit latrines

B-UQ/RV-N-A/S0A

95. Under Panchayat Extension o

Scheduled Arcas (PESA), a State
legislation on the Panchayats in
a Scheduled Area may not be in
consonance with the

fa) customary law

b} social and religious practices

{e} traditional management prac-
tices of community resources

{d] political ideclogy

96. Which one of the following

statements is incorrect?

fa) The power of the Governor to
grant pardon is equal to the
power of the President

(b} The power of High Courts to
iggue writs under Article 226
of the Constitution of India
iz wider than the power of
the Supreme Court wunder
Article 32

fe} The executive pewer of the
Governor is wider than the
executive power of the
Preszsident

fdi The exercise of power by High
Courts is always subject to the
powers of the Supreme Court



93. Hiz 4= uw (2014), FW 1 5, 2014

w mef # s feeh, whm o
Hirg T HEmw @ s 5
4w W 7 gifim w9 g s
i

1. 34 g5 FEwl = g @
wiftrret 3 Trdres & Tam @

2. oA SIS ST S AT
o ‘wy-fas 431 = dmsa @

3. PR fr Gl ufemsi §
I I B

= fr m w = ow@m W owd I
i

fa) FEH 1 3w 2
fhl a@ 3
fe) wad 1 a3

fd 1, 23573

94, UHiFT R PR Eeed #hE W 3t

T el w1 e aiafd s 37
fa) HETE FE AETEE
(b) FE T M
fe] ToETa e siawm

(d) TTE WrEwEy
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95. agfum &l 4 v=rn fwm (PESA) #

s, Bt smfm s # dawEl w
T Bum = BE: aw=wm O fe
TS AR BT

fa) wfEg &
(b) WIS waT 30T i v

fc) Tt wETEEl #1 TR e
whEm

id) T FEram

o6, T st # & FH-u1 vF em 27

fa) TR S TSR FA A owhE
wEgfa &1 wfe & o b

(b VEA % HiEwE F e 226 &
W 3= = & i w5
ol wfeE, s=eT 32 & i T=mm
=T Wi 8 st freg

fe) TR wEwe wfE, geel
F1 FrEHRO iw # sifies fawga &

(d} T2 =EEE g W f oo A
Y IO AR o ohEm
e A

| P T. O,



97, Which one of the following
gualifications is not necessary to
became qualified to be a member
of Counecil of States?

fa) He/She is a citizen of India

fb) HefShe is not Iess than
30 years of age

fe) He/She is a voter

{d] He/She is a resident of the
area from which he/she is
seeking election

98. In which one of the following cases,
the seat of 8 member of the Lok
Sabha can be treated as vacant?

fa) The member of the Lok Sabha
iz also the Chairperson of
the National Commission for
Women

fb) Without any intimation to the
Speaker, the member remained
absent from 62 meetings of the
Lok Sabha which included
5 days during which the House
was adjourned

fe} The Lok Sabha member was &
discharged insalvent

fd] The Lok Sabha member elected
gs an independent candidate

joins a political party
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99, Which one of the following
statemients is correct?

(a

b}

(el

fdf

The President can promulgate
an Ordinance whenever the
Council of Minizters advises
him to do so

An Ordinance promulgated by
the President of India may
curtail any of the fundamental

rights

An Ordinance remains valid
till the Council of Ministers
decides

An Ordinance can be
promulgated to transfer an
entry from the State List to the
Concurrent List

100. Procedure for removal is the same in
respect of which of the following
persons?

1.

4.

The Comptroller and Auditor
General of India

A Judge of High Court

The Chairman of the Union
Public Service Commission

The Attorney General of India

Select the correct answer using the
code given below.

(e
(b)
fe)
fd

1. 2. and-3
2 3 and 4
1 and 2 only

1 and 4



97. Feafafan sdaed 4 & S9-4 o=

w1 F W T F s BR F e
T Tt &7

fa) 9B 9TA = AVIE B
() IR TG I0 I A FR AR
o) E AEEE R

fd) =% 30 93w Fanh 9, 55 4 T
T e s e &

98, Frefafin oo § 8 B ws § &5 5w

% el wmewm % e S oo
e 17

fa) T BN W AR WEE UHE uhen
AR anoge off B

b} T sy ) gfn By oas T
T WA 62 SFw1 6 i
T & T 7 5 W omte @
TE Wi = m

fc) o8 w1 W) HE I e @

(d) w=ad gl fl @E i gen T
wiE 7y T2 e s m
HEE T AT
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99, Tefivfad Fu-l # # FH-|1 v w6 87

faj wzafa swEm w51 B 2
EEBL R E s e B E S
AR oAl 8

fb) WA % Tedls BN wemta =i
ween o9 gm osfesw =
Hifira =2 w2

fe) =eRn ghmfem w folr 89 @
Ay w2

(d) TG wE R oawEdE gE g w5 vk
FiE w0 F B saRy weEnf
fian = w B

100. Frafofss =i § 8 555 feg 0 e

EIER: AR e

S R ARE L e R
2, T A 51 FE
3. 9 @F §9 M wwms
4. HAA F gEEE

A= o om gz w1 owEm oW owh T
T

f@) 1, 233
B 2, 3304
fe) a1 M2

fd] 134

(BT e



101. The Ceonstitution of India does not

contain any provision with regard to
cooperative societies in respect of
which one of the following cases?

fa) Prescribing the minimum
number of Directors of a
cooperative society

(b} Supersession of the Board

fc) Right of a member of a
cooperative society to get
information in respect of a

cooperative society

fd] Multi-State cooperative society

102. Conzider the [bllowing statements

about the Committee on Estimates |

1. Members of the Committee are
drawn from both the Lok
Sabha and the Rajya Sabha.

3 The maximum number of
members of the Committes
i 30.

3. The members are nominated
by the Speaker and the
Chairman.

Which of the statements given
above isfare correct?

fa) 1,2 and 3
fbl 2 and 3 enly
fe} 2 only

fdf 1 and 3 only

B-UQ/RV-N-A/50A

103. In the event of grave disorder

occasioned by 8 member coming to
the well of the House or abusing the
Rules of the House persistently and
willfully obstructing its business,
such member shall, on being
named by the Speaker, stand
automatically suspended from the
service of the House for

fa) ten consecutive sittings
fb) the day

fel  two weeks or the remainder of
the session whichever is less

(d) five consecutive sittings or
the remainder of the session
whichever is less

104. The quorum required to constitute

the sittings of a Parliamentary
Committes is

fa) one-half of the tatal
membership

) one-third of the total

membership

fe) one-fourth of the total
membership

fd) two-third of the total
membership

105. Which of the following matters iz not

required to be brought before the
Cabinet Committee on Security for
consideration?

fa) lssues relating to law and
order and internal security

fb) Economic and political issues
impinging on national security

fe) Matters relating to atomic
energy

(d) Appointment of Defence
Attachés to SAARC countries



101, el wikEt & faga 4 Fefafan ame

4@ feg uw Fan d wra & gfye |
&1 arEy T R7

fa) memdl Gfify & Frws) & s
we faifea e

th) = = afmm

fej Tl weait mfuf % faww 2 g0
WR w4 F e | & e
HEE w i

(d) =g-T8 Heel Ak

102, WiEmwa wibtd & 71 § FefEies 5890w

ram i

1, =fafs ¥ e &% o FE o=
T 2 | o = #

2. whfa & weel $fit afiman wem
30 Bt B

3. HEEN W @ WYl % anEs s
Tr7g BT w1 wamfy amfEiE s
21

e wae # | -8 wE R eY

fa) 1,247 3

() #EE 2R3

fo) e 2

fcf) Fee 13 3
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103. "edi e & ol 8, = et ges

W g % odf o3 = | i) e
it =7 SR-AT gE0EE S 8 A aE
F w0 FE-gEE 9 S | I
Bl B, T wE, S w5 R e g
am fen @ @, gEe o g 4 fey g
% & fem e frafim s smm?

fa) &0 wFman S % fm
(b) 38 = % fom

fc) # TR #A¥E] @3 % I HAS &
forg, s i Fa @

(d) Ui TEW SEh He=) w3 4 9
a6 % fom, =1 oft =0 A

104, [ audim giafa 6 99% & v amErgs

g & &7

(a) T I
(b) FF T WEAT F - g
fc] el TEER WA N M-S
(dj T wEE HEn -t

105. fFe=fafe feml 4 @ B goe R

nfvee wffr % ong BEm o wg s
ST T AT

fa) FTF HE STEE T AR G
| HrETaE 0

(b) TEM UM B T AE anTdw e
BEETRE

fc) TR T H AR A
(d) SAARC = 7 5 s = Rl

FRGT O,



106. The Ministry of Culture wants (o sign

cultural agreement with a number
aof countries for exchange of
musicians. Which of the following
actions it needs to take?

faj Seek prior approval of the
Cabinet

{b} Bring the proposal before the
Parliament

fc) Bring the matter before the
Cabinet for information

fd} Seelk the approval of the
Ministry of External Affairs

107. In which one among the following

cases, the Cabinet approval is not
required?

fal To summon and prorogue the
Houses of the Parliament

Bl To dissolve the House of the
People

fc) Tao create an institution of
rational importance

{d) Towithdraw prosecution, inati-
tuted by the Government of
India, in accordance with the
competent legal advice
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108. National Disaster Response Force

acts under the

fal Ministry of Deflence

fbl Ministry of Urban Development
fo)  Ministry of Home Affairs

fd} PMO

109. Which one of the following is not

under the Ministry of Information
and Broadcasting?

fa)] Broadcast Engineers Consul-
tants (India) Timited

fb) Indian Institute of Mass
Communication

fe)  Publications Division

{d) MNational School of Drama

110. Consider the following statemnents

gbout Haushilk Basu

1. He was recently appointed
as the President-elect of the
Intermational Economic Assooa-
tion.

2. He became the first Indian to
head the nstitution.

Which of the statements given
above is/are correct?

fa) 1 only
b 2 only
fc) Both 1 and 2

{d) MNeither 1 nor 2
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108, TEH W9El M 50 s afia s

w0l /Y

fa) &N HETEM

fb) el Bre T
(c) I AT

(d) e ey

109. Fefafas § 8 F9-w 950 W wEE

woTEa % st Tt 27

(o) wiewnz sifed soedzm (3fF=m)
ferfite

(b) WA S EE
(el A
(d) e T

110. 5ifts =g & v 0 =l w99 =

e <fife

| A s e
s - Tl (fdiE-gawe) & &9
# T 7 9

2. A w e N gy w4 wE
e WA & |

I el # & Se-m/d wdh R
fa) =21

(b) F=w 2

fo) 1 3R 2EH

d FI@13mada
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111. Rural Self-Employment Training 114, National (Ganga  River  Basin
Institute, to be set up one in each Authority has decided under its
district, for basic and skill Miszsgion Clean Ganga that no
development training of rural BFL

i‘;ﬂth would be managed &nd run fa) dead bodies are cremated near

Ganga

fal State Governments
i) fertilizer residues from nearby
(b} District Rural Development fields get run off to Ganga
Agencies

fe} municipal wastage is dumped

fe) Municipalities into Ganga

i k
(d) Commercial Banks fd) untreated municipal wastage

and industrial effluents flow

into Ganga
112. National Rural Livelihood Mission is

restructured from Swarnajayanti

Gram Swarozgar Yojana, but is now

known as 115, Which of the following statements
about ‘Burrakatha' is/are correct?

fa) Aajeevika
1. It i8 an oral storytelling
technique in the Katha
Jeevika
(0] Je tradition.
fe} Jijivisha 2, It is mostly found in Eastern
India.

fd] Jeeveshna

Select the correct answer using the

code given below.
113. Under MGNREGA, the division of

funds between the Centre and the

State 15
fa) 1 only
[a} 6040
(b) 70:30 (B} 2 unly
fe) BO ;20 fe} Both 1 and 2
fdl 90: 10 (di Meither 1 nor 2
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111, "E T @ = A Al § o 3@ anfm 114, R m R wef mfieee 3 gy fs

e Ht gheE i W e M afa Afim Em b &
yim & fom wes R 8 o s
T A T e e s : :
fa) T % B g Wi 5 oSE-EEn

FR W wom 2 3/ F9 Swmm? T Fan s

T H/UFN
& (b T F A v s
(b} T amdier e st T A q w3
(c) FTCITTETH fe) w Fm & swde i § 7 %% fo

ani

() TS 4%

(di T fam ¥ sweafg saim s
Aty st 1 9m d 3 B

112. TEE umi e fioe, sl om =
witan Ao e R 98 o
T g B
(a) ki 115, F=feafad 8 # $9-11/8 = ‘aEma’
7
e & wad A wft /87
1. ¢ Fa-wem 8 Ofas FEd g
fc}  Faraftfamn # TF THAE 2
e 2. I8 st O v 8§ welh 3
i fw m = W oW owoad I
g |
113. MGNREGA % 34¥F, &% 3 9 &
= fafa =1 faumm B agem 3 37 P L
fa) 60 :40
(b) Fas 2
fb) 70:30
fe) 80:20 o 12
{dj 90:10 fdf am1amada
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116. Consider the following statements

about Comprehensive Sustainabile
Tourism Criteria for India (STCI) :

1. These criteria are to be

119, A law made by the Legislature

of a State’ cannot empower a
municipality to exercise powers in
relation to which of the following

compulsorily implemented by matters?

all the stakeholders in tournsm
industry.

2. ‘The main objective of these
criteria is to minimize carbon
footprints,

fa] Regulation of land-use

(b} Urban poverty alleviation
Which of the statements given

above is/are correct?

fz) 1 only fe} Public distribution system
bl 2 only
fe) Both 1 and 2 fcd} Fire services

fel] Meither 1 nor 2

117. What is the monthly wage ceiling . :
for becoming a subscriber of 120, -The Union Exgcutve can igue

directions to a State in respect of

B Ao EE?’. Bravident Find which one of the following matters?
Organization?
() Vel fa} ‘To ensure that minorities are
(b ¥ 6,500 duly protected against violence
fe ¥ 10,500
fb] To expedite guick dispesal of
fdj ¥ 15,000 criminal cases pending against
politicians
118. Who amoeng the following is the
author of the book, The Rise and
Growth of Economic Nationalism in fc} To observe, during the course
India ? of operation of fnancial

emergency, such canons of
financial propriety as may be
specified in the directions

fa) William Dalrymple
(h) Amartya Sen

(cj Bipan Chandra {dl To ensure cleanliness of inter-

(d} R. C. Majumdar State rivers
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116. 9d & oo =yos emofte gz gt
(STCI) & 7t 3 F=fefas e+t w fa=m
wifan .

1. %A 9HEveEl # gz wom § of
qoenfEt & wm sfEdE: wwEiey
fopem =T R

2, ¥ WAEUE] 1 O IWE FEA
Fzfi=1 =1 = = R

IFE A | WA R
(a) Fw 1

(b) Faw 2

fe) 1 32 M

fd) 38 13mad2

117. =rant Wiass T @naa = 3odes s
o Tom v dae o e &7

fa) ® 5,000
(b) ¥ 6,500
f) ¥ 10,500
fdi & 15,000

118. 8 @ 19 % U§F T U9 A9TE TR
Yretesn @ i T A AT

() Taferm s
(b) W WA
fe) Tamm =3
(d) HATMe Hle HEN

B-UQ/RV-N-A/50A 51

119. FrEl o & foamoEs g e &l

frafafaa 4 4 fre A o afesdd w
M F4 & o e 1 wie 798
ol e ik

fa) q-TEm w A

(b) wEt FrdEm I

fe] W= T W]

(d) sifremm #a

120. 99 wrimiees frafefs 4 @ e o=
AW

ot & A § e W HEm
AT BT

() FeoEeEH & i R TEs oA
e ghfem = &% fom

(b) TS & frens wfee smrifies
uwet #t 1y Froed & fom

e} fadta sam % uada &1 aEfa &
dm e sifem &, FEw o4
auifataiEe, el = 9wm w0 &
oo

(d) -t AfEEt & wEE w5 geiiE
A e
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Note : English version of the instructions is printed on the front cover of this Booklet.




